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Give me 5!
1. 236 + 100 = 336

2. 768-92 = 676

3. What is ½ of 36?  18

4. 15 x 6 = 90

5. 42 = ? x 6   7
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1.) Janice sells 45 oranges to a buyer.
She puts 5 oranges into each bag.
How many bags doe Janice use for all of the 
oranges?

2.) Terry puts 48 stamps equally into  6 
envelopes.

How many stamps are in each envelope?

3.) A hotel chef fries 35 eggs for breakfast in a 
hotel.
he divides them equally among 7 plates. 

How many eggs are on each plate?

4.) A milkman delivers the same 
amount of milk to 8 households. 
He delivers a total of 48 cartons 
of milk. 

How many cartons of milk does 
each household get?

5.) Jeremy moves three times as 
many bricks as Matthew. They 
move 136 bricks altogether

How many bricks does Jeremy 
move?
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1.) Janice sells 45 oranges to a buyer.
She puts 5 oranges into each bag.
How many bags doe Janice use for all of the 
oranges?

2.) Terry puts 48 stamps equally into  6 
envelopes.

How many stamps are in each envelope?

3.) A hotel chef fries 35 eggs for breakfast in a 
hotel.
he divides them equally among 7 plates. 

How many eggs are on each plate?

4.) A milkman delivers the same 
amount of milk to 8 households. 
He delivers a total of 48 cartons 
of milk. 

How many cartons of milk does 
each household get?

5.) Jeremy moves three times as 
many bricks as Matthew. They 
move 136 bricks altogether

How many bricks does Jeremy 
move?

ANSWERS

Janice uses 9 bags.

There are 8 stamps in each envelope.

There are 5 eggs on each 
plate.

Each household gets 6 
cartons of milk.

Jeremy moves 102 
bricks.


